Series HRSI2] o 31/2/3

W OYHT B UG & w15 e w o e o @ 1 wwowm @ e

Code No
A el e B TR
i *

Roll No. W waw | e
Candidates must write the Code on the
title page of the answer-book.

. mmwé%s@rmﬁﬁg&aqz%% |

-ﬁﬁa@ﬁmﬁwmwﬁgwaﬁmmgﬁﬁm%g@pw
fod |

mmmé%wwwﬁum%n |
FUAT T¥ H IW FoFEw1 6 FA | 93, W7 w1 st rava forgd |

ygig # 10.15 s fFam SO | 10.15 S @ 10.30 I T B Fael I-IT H
e SR 3 Efy & QU I Ie-gfern WA I T fordn | :
Please check that this question paper contains 23 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate. ~

Please check that this question paper contains 42 questions.

Please write down the Senal Number of the, question before
attempting it.

15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.
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General Instructions : .
(@) The question paper comprises of two Sections, A and B. You are to
attempt both the sections.
Gi) All questions are compulsory.
(iii) All questions of Section A and all questwns of Section B are to be :
attempted separately. ‘
(iv)  Question numbers 1 to 8 in Section A are one-mark questions, These are to
be answered in one word or in one sentence. o
(v)  Question numbers 4 to 7 in Section A are two- marks questwns These are
’ to be answered in about 30 words each.
" (vi) Question numbers 8 to 19 in Section A are three-marks questlons These
are to be answered in about 50 words each.
(vii) Question numbers 20 to 24 in Section A are five- marks questions. These
, are to be answered in about 70 words each. ,
(viii) Question numbers 25 to 42 .in Section B are multzple choice questwns
‘based on practical skills. Each question is a one-mark question. You.are
“to select one most appropriate response out of the four provided to you
31/2/3 2
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SECTION A
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. Write the formula used to determine the maximum number of electrons

which a shell in an atom can accommodate.
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Why is the progeny always tall when a tall pea plant is crossed with a
short pea plant ? . :
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List two criteria of measuring the biodiversity of an area. :
mﬁnﬁaﬁmﬁmmuﬁrmmﬁaﬁmamﬁ@
T |

List two preparations shown every month by the uterus in anticipation of
pregnancy in humans. :
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The linear magnification prbduced. by a spherical mirror is -—%.

Analysing this value state the (i) type of spherical mirror and (ii) the
position of the object with respect to the pole of the mirror. Draw ray
diagram to Justlfy your answer.
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“To discard the household waste we should have two separate dust-bins,
one for the biodegradable waste and the other for the non-biodegradable
waste.” Justify this statement suggestmg the proper way of disposal of
these wastes.
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What are fossil fuels ? “Burning fossil fuels may lead to intense global
warming.” Justify this statement.

3 P.T.O.
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Write chemical equatlons to descnbe two examples of dlfferent oxidations
of ethanol List two uses of ethanol
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10.

Write the chemical equations to show’ what happens when
@ sodium hydroxide is added to ethano‘i'c ac1d ?
(ii) solid sodium hydrogen carbonate is added to ethan01c acid ?

(iii) ethanol reacts with sodium ? ?
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Study the following table in which positions of six elements A, B, C, D, E
and F are shown as they are in the modern periodic table :

Group :
>|1| 2 |3-12|13|14]| 15| 16 | 17 | 18
Period | | * |
2 A o | B c
3 D S E F

On the basis of the above table, answer the following questions :

@ Name the element which will form only covalent compounds.
(ii)) - Which element is a metal with valency one ?

(iii) © Which element is a non-metal with valency two ?

(iv) Out.ofD and E, which has a bigger atomic radius and why ?

(v) Write the formula of the compound formed when B combines
with D.

11. Frtf 7 1 e 2,8,8,13 1 3
@ mmméwmﬁwﬁﬁa{smaﬁtmémmﬁ@
- ffw
(i) 3PQ Fifre 7% g a7 grg } gan g |
TH TR F ST IR A HRY Afea gy AR |

The electronic configuration of an element is 2, 8, 8, 1.

) State its group number and period number in the modern periodic
table.

(ii) State whether this element is a metal or a non-metal.
Give reason for the justification of your answer in each case.
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Define the term ‘evolution’. “Evolution should not be equated with
progress.” Give reason to justify this statement.

13. TRT H Th-UH GV < §Y, AN 3R Infia @wgont # fasgr AR |
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Distinguish between inherited and acquired traits by giving one example

of each. Give reason why the traits acqulred during the hfetlme of an
individual are not inherited.

31/213 5 " | . P.T.O.
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On the notice board of ultrasound clinics it is generally stated.. “Here
prenatal sex determination and disclosure of sex (boy or girl before birth)
of foetus is not done. It is prohibited and punishable under law.”

(a) List two advantages of imposing ban on prenatal sex
 determination. ‘

(b) What can students do to educate the éociety‘ about the following ?
@ The ill-effects of indiscriminate female foeticide
(i) Adopting small family norms

i A T R 9@&@@@% lﬁﬁnﬁ@ﬁémﬁﬁ

R IMMT T Tt 3 R AT

'ﬁ@mwmwmm|

16..

What is vegetative propagation ? List its two advantages Select two
plants raised by this method from the list given below :

Wheat, tomato, rose, pea, gram, corn, banana.
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A student has a concave mirror of 20 cm focal length and he wants to see
an erect image of his face in the mirror. What should be the range of
distance of the mirror from his face ? State the nature and size of the
image he is likely to observe. Draw a ray diagram to justify your answer.

- 6
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The image of a candle flame placed at a distance of 40 cm from a
spherical lens is formed on a screen placed on the other side of the lens at
a distance of 40 cm from the lens. Identify the type of lens and write its .
focal length. What will be the nature of the image formed if the candle

flame is shifted 25 cm towards the lens ? Draw a ray diagram to justify
your answer.

18. mﬁs'augqm'asﬁ%%m@mﬁmﬁmmmlmm
A ATt aRue B wfirm samen Bkt lw%ﬁm%mm
a\sra?aﬁ{aﬁwsql 3

Draw a labelled ray diagram to show the formation of rainbow in the sky
giving brief explanation of the phenomena involved at each stage. List .
two conditions necessary to observe a rainbow.
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What is meant by food chain ? “The number of trophic levels in a food
chain is limited.” Give reason to justify this statement.
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fofae | |
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What is meant by power of a lens ? Name and define its S.I. unit.

One student uses a lens of focal léngth +50 cin and another of —-50 cm.
State the nature and find the power of each lens. Which of the two lenses
will always give a virtual, erect and dlmuushed image 1rrespect1ve of the
position of the object ?
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24.
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What is myopia ? List two causes for the development of this defect. How
can this defect be corrected using a lens ? Draw ray diagrams to show the
image formation ih case of (i) defective eye and (ii) corrected eye.

g T 80 7 e 7 G @ P i T @ ke
UHIE ¥ TH-TF Iae oo ot fardvegm hifd | fom e Sereen & e s
6 G HT NG Wit A9 IW ht giY Fifvw |

What are hydrocarbons ? Distinguish alkanes from alkenes and each of

them from alkynes, giving one example of each. Draw the structure of -

each compoimd cited as example to justify your answer,
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(a) Name the human male reproductive organ that produces sperms
and also secretes hormones. Write the functions of the hormone
secreted.

(b) Nalhe the parts of the human female reproductive system where
(i) fertilization and (ii) implantation occur respectively. Explain
how the embryo gets nutrition inside the mother’s body.

Troftag & i S s o s s S el & e o A g
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List in tabular form the two differences between asexual and sexual

mode of reproduction. Name and explain with the help of labelled
diagram the process by which Hydra reproduces asexually.
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SECTION B
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A student observed an embryo of a red k;dney bean and identified four

parts in it as

I Cotyledon
II. Plumule
III. Radicle -
Iv. Tegmen’

The correctly identiﬁed parts are
(A) I,IIand III
(B) I, IIIandIV
(C) LIIandIV
(D) LIland IV
311213 -9 P.T.O.
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A) IRII

(B) IIRIII

(© IIRIV

(D) 3RV

Study the following conclusions which were drawn by the students of a
class on the basis of their observations of available/preserved specunens
of plants and animals, and select the correct conclusions :

L

IL.
III.

IV.

Thorns of citrus and tendrils of cucurbita are analogous structures
in plants.

Potato and sweet potato are analogous organs in plants.

Wings of insects and wings of bats are analogous organs in
animals.

Wings of insects and wings of birds are homologous organs in
animals.

The correct conclusions are

(A)
(B)
©)
(D)
31/2/3

ITandII
II and III
IIT and IV
Il and IV
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You have a jute bag full of vegetables such as carrot, ginger, potato, sweet |
~ potato, radish, tomato, cauliflower, etc. Identify two vegetables to
represent the correct homologous structures. .

(A) carrot and potato

(B) potato and tomato

(C) potato and sweet potato
(D) radish and carrot

28 < g 1w 3 R PrerReRa e 1 ot AR
I g‘@aﬁ@m%mmmam%y
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‘IV.‘ mﬁimﬁwﬁm@m% ql 98 1 D &1 T B | |
aa"rmgﬁn - | 1
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.Study the followmg statements about the process of buddmg in Yeast :
I A bud arises from a partlcular reglon of a parent body

II.  The parent cell divides into. two daughter cells, here the parental
identity is lost.

III.‘ Before detaching from the parent body; d bud may form another
"~ bud. ' | '
IV. A bud When detaches from the parent body, grows into a new
individual.
- Select the correct statements :
(A) I,Tand I
(B) II,. ITT and IV
© ILMandIV
D) LIIandIV
29. o ¥ faven H P S 1 TUR T g @ S W YA @ F
m%@ﬁmﬁﬁw%ﬁaaw&@@% ma,sqaﬁu’fﬁawhmwaﬁ
T

CHORONCNS
I II | m v ' '

It <Ol 1 WE i |

@A HOLILLV,IV

B) IiI, V,ILL LIV

() ILLILV,IV

D) INILILV,IIV
317213 12



After observing various slides showing different stages of binary fission
in Amoeba, a student draws the following diagrams. However, these
diagrams may not be in proper sequence.

CRORORONC

Identify the correct sequence of the above stages.
A) IILILI, vV, IV
(B) IIL, V, 1L, I, IV
©) ULLILV,IV
(D) MNOLILV,LIV

30, wY oo R g wameh # Qfean TR FERe % TP B $B A6
AR 3 W 4 - 5g®mmﬁm%|%wﬁmm%9(mﬁ |
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(A Eﬁmmﬁ@v@qﬁaﬁm% |
(B) mﬁqsﬂtﬂﬂaﬁﬂa%gagéﬁm%%
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(D) ;@qﬂaﬁmﬁ%ﬁmﬁyﬁmaﬁwmwﬁ%mm

A student takes a small quantity of sodium hydrogen carbonate powder.
in a dry test tube and pours 4 — 5 drops of ethanmc acid over it. What will
he observe ? (Select the right option)

(A) Evolution of a colourless gas‘w1_th pungent smell
(B) Bubbles of a colourless and odourless gas
(C)  Evolution of brown fumes along with a brisk effervescence

(D) Evolution of a colourless gas which burns with a pop sound when a
burning splinter is brought near it

31/2/3 13 ‘ P.T.O.
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P v o X X v
Q X v X v
R X V4 v X
S v X J X

i3 o 5 e e g v e 7

A P

B Q-

(C) R

D S

Four students P, Q, R and S studled the properties of ethan01c acid and
reported theu' observations in the following table :

Odour v, Miscibility with water

Student | Like Like Fully Partially
Vinegar | rotten egg | miscible | miscible
P v X x v
Q x v x| v
R X v v X
S v X v X
The correctly reported observations are of
(A P
B) Q
C) R
(D) 8

31/2/3 14
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When you prepare 20% sodium hydroxide solution in a beaker containing
water, then while preparing the solution you record certain observations.
Select from the following the observations which are correct :

I.  Sodium hydroxide is in the form of pellets/flakes.
II. It dissolves in water readily.

III. The beaker appears cold when touched from outside 1mmed1ately )
after adding sodium hydroxide to water.

IV.  When red litmus paper is dipped mto the solution, it turns blue.
A) I IIandIII |

(B) .,IllandIV

(C) NI, IVandlI

(D) LIlandIV

31/2/3 15 | P.T.O.
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While preparing soap we generally add a small amount of common salt to

the reaction mixture of vegetable oil and sodium hydroxide. The purpose
of adding common salt is to (select the right option)

(A) make the soap neutral
(B) reduce the basic nature of the soap
(C) enhance the cleansing power of the soap

(D) favour the precipitation of soap

#1 o1 TN WEARTE P, Q, R S § weis # @ 5 mL a@amé?n
2 | 98 WaETeh P i NapS0,, Q ¥ KyS0,, R § CaSO, 3 S # MgSO, #!
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(A) P33R Q

(B) Q3RR

(C) R3S

D) P,Q3Ss

A student takes about 5 mL distilled Water in four test tubes marked P,
Q, R and S. He dissolves in each test tube an equal amount of NagSOy4 in
P, K9S0, in Q, CaSOy in R and MgSO, in S. After that he adds equal
amount of concentrated soap solution in each test tube. On shaking these

test tubes well, he would observe a good amount of lather (foam) in the
test tubes marked

(A) PandQ
B) QandR
{C) RandS
D) P,QandS

16
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(©) IRF X orada quor B e i gt 10 cm ® |
(D) IR X I o § Rt ahan B 10 em R 1

A student used a device X’ to obtain the image of a well illuminated
distant building on a screen ‘S’ as shown below in the diagram. Select the
~ correct statement about the device X :

A

107]
s M

10 cm ——-——a' :
(A) The device X’ is a convex lens df focal length 10 cm.

(B)  The device X’ is a convex mirror of focal length 10 cm. |

(C) The device X’ is a concave mirror of focal length 10 cm.

(D) The device X’ is a convex mirror of radius of curvature 10 cm.

3123 | 17 | P.T.0.
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v (C)  is always parallel to éhe refracted ray : 1 =

31/2/3

(D) <8 % i gui At ashar B |
A student has obtamed a highly diminished image of the Sun on a screen

using a convex lens. In order to determme the focal length of the lens,
what should he measure ? ?

(A)  Curvature of two surfacés of the lens b
(B) Aperture of the lens |
(C) Distance of the screen from the lens

(D) Radius of curvature of two surfaces of the lens

¥ BT S B B = R TR Rg F B BT @ e et areh
mwwmm%la&@mﬁwmm%m%ﬁﬁﬁ
I8 frepd o fop fanefa fomrm | 1

(A) T Sl fR & TR A R
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A student traces the path of a ray through a glass prism for four different
values of angle of incidence. On analysmg the diagrams he is likely to
conclude that the emergent ray

(A) is always parallel to the incident réy
(B) is always perpendicular to the incident ray

(D)  always bends at an angle to the direction of incident ray

18
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A 1

B I

(€ II

O IV

Consider the following traces of the path of a ray of light passing through

a glass prism. Identify the diagram which shows the correct path of a ray
of light. '

. IT1
A I
®B) 1II B
© I

D IV

31/2/3 | | 19 o - ptoO.
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(A) 23R3
(B) 23R4 ,
(© 235 | B

D) 33W5 | | | | !

Out of the five incident rays shown in the following diagram, identify the
two rays that are not obeying the laws of refraction and as such we
cannot use them for illustrating the image formation by convex lenses.

(A) 2and3
(B) 2and4
(C) 2and5
(D) 3and5
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‘A student was given a convex lens of focal length 12 cm by his teacher to

perform the experiment, “To find the imagé distance for various object

distances in case of given convex lens.” He performed the experiment

- methodically observing all possible precautions and 'no‘ted down his

- 41,

observations in tabular form as given below.

S.No. | Object distance (cm) | Image distance (cm)
1 60 15
2 8 | 16
3 36 2
4 24 7'
5 18 | 36,
6 16 48

While checking, the teacher remarked that in one of the observations the
image distance has not been recorded carefully. Identify the serial
number of that observation.

A 2
B 3
) 4
(D) 6
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HHATR ?
(A) © (30°, 45° 60°) 3 2 cm
(B) (30°, 45° 60°) 3R 8 cm
(C) (25° 50°, 75° 3 6 cm
(D)  (25°,50° 75°) 3R 12 cm




For tracing the path of a ray of light through a rectangular glass slab, the

best choice for the values of angle of incidence and the distance between

' the feet of the two pins is
(A (30° 45° 60°) and 2 cm

42,

(B) (30°, 45° 60°) and 8 cm

(C) (25°50° 75° and 6 cm -

(D) (25° 50° 75° and 12 cm
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(A Zi=Ze<Zr
B). Li=Ze>/r
(C) ZLi>ZLe>sLr

D) ZLe>Zi>Zr
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A student traces the path of a ray of light through a rectangular glass

slab for four different values of angle of incidence. He observes all
possible precautions while fixing the pins and also while measuring
different angles. On analysing the measurements he is likely to draw the
following conclusion :
(A) Zi=Le<Zr
B) <Li=ZLe>4Lr
(C) JLi>ZLe><Zr
D) ZLe><ZLi>Lr
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